IMPORTANT QUESTIONS (CHAPTER 1 – 5)

(LEVEL 3)

1. Find the largest number that will divide 398, 436 and 542 leaving remainders 7, 11 and 15 respectively.

2. Use Euclid division algorithm to find HCF of 56 and 72 and hence express it in the form of 56x + 72y.

3. 72 liters of liquid A and 108 liters of liquid B are to be packed in containers of same size. Find the minimum number of containers required.

4. In an examination 350 students have to appear in English and 210 students have to appear in Mathematics. All the students in a room should be of the same subject. If same number of students are to be seated in each room, find the minimum number of rooms required.

5. The size of a hall is 30m x 36m, find the largest square carpet which can be used to cover the hall completely without overlapping. Also, find the number of such carpets.

6. If the sum of the squares of zeros of the polynomial 6x2 + x + k is 25/36, find the value of k

7. If ( and ( are the zeros of the polynomial x2 +5x + k, and (2 + (2 =11 find k

8. If ( and ( are the zeros of the polynomial x2 – 3x + 7, find a quadratic polynomial whose zeros are 1/( and 1/(
9. Raman has two daughters Deepa and Anju. Present age of Raman is nine more than that of twice the sum of Deepa and Anju. Five years hence, the age of Raman will be 4 more than one and half times the sum of the ages of Deepa and Anju. Determine the age of Raman

10. Solve :
bx/a – ay/b + a +b = 0 and bx – ay + 2ab = 0

11. Solve by factorization : (a + b)2x2 – 4abx – (a – b)2 = 0

12. Solve
:
1
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1
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      x - a – b
   a
b
x

13. Two trains X and Y start from a railway station at the same time. The X train travels due west and the Y train due north. The X train travels 5km/hr faster that the Y train. If after two hours, they are 50 km apart, find the average speed of two trains.

14. By reducing the list price of a shirt by Rs. 200 a person can buy 3 shirts more for Rs. 12000. Find the original price of the shirt.

15. Solve by quadratic formula: (i)  9x2 -3(a + b) x + ab = 0
(ii)  p2x2 + (p2 – q2)x – q2 = 0

16. Raghu and Mohan together finish a work in 15 days. When they work separately, Raghu takes 16 days less than the number of days taken by Mohan to finish the same work. Find the number of days taken by Mohan to finish the work

17. If (-5) is a root of the quadratic equation 2x2 + px – 15 = 0 and the quadratic equation  p(x2 + x ) + k = 0 has equal roots, find the value of k.

18. Find p so that 4x2 – 3px + 9 = 0 has real roots.

19. pth term of an AP is q and qth term is p. Prove that nth term is equal to (p + q – n)

20. mth term of an AP is 1/n and nth term is 1/m. Prove that sum of first (mn) terms is ½(mn + 1)

21. A contractor employed 150 workers to finish a piece of work in a certain fixed number of days. On the first day all 150 worked, he dropped four workers on the second day, four more on the third an so on. In this way, eight extra days are required to finish the work. Find the number of days in which the work was completed ultimately.

22. Some students planned a picnic and the budget for the food was Rs. 240. As four of them failed to go, the cost of food for each student increased by Rs 10. How many students had gone for the picnic.

23. One-fourth of a herd of camels was seen in a forest. Twice the square root of the total number had gone to mountains and the remaining 15 were on the bank of a river. Find the total number of camels

IMPORTANT QUESTIONS (CHAPTER 6 – 10)

(LEVEL 3)

24. Through the mid point M of the side CD of parallelogram ABCD, the line BM is drawn intersecting AC in L and AD produced in E. Prove that EL = 2BL


P

25. Two poles of height a and b meters are p meters apart. Prove that the height 


R

of the point of intersection of the lines joining the top of each pole to the 

         Q


foot of the opposite pole is given by   ab meters



x


 z

           a+b 

26. PA, QB and RC are perpendicular to AC. Prove that 1/x + 1/z = 1/y
A


 C

27. ABC is an isosceles right triangle at B. Two equilateral triangles 


         B

are constructed with side BC and Ac. Prove that area of (BCD = ½ ar (ACF

28. Derive distance formula.and section formula.

29. Find the ratio in which the line 3x + y – 9 =0 divides the line segment joining A(1, 3) and B (2, 7)

30. The coordinates of the mid-point of the line joining the points (2p+2,3) and (4, 2q+1) are (2p, 2q). Find the value of  p and q.

31. If the coordinates of the mid points of the sides of a triangle are (1, 2), (0, -1) and (2, -1), find the coordinates of its vertices.

32. If the points (a, 0), (0, b) and (x, y) are collinear, then prove that x/a + y/b = 1

33. The vertices of a triangle ABC are A(5, 2), B(-9, -3) and C(-3, -5). D, E, F are respectively the mid points of BC, CA and AB. Prove that the area of (ABC = 4 x the area of (DEF

34. In (ABC, if sin (A + B – C) = √3/2 and cos(B + C – A) =1/√2, find A, B and C.

35. Find the value of 
-tan( cot(90(- ()+sec(cosec(90(-() + sin235( + sin255(
tan10( tan20( tan30( tan70( tan80(
36. Prove that 
     1
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1

1

      cosecA – cotA
sinA
          sinA
  cosecA + cotA

37. Prove that 
sinA + cosA
   sinA – cosA

 2sec2A

sinA – cosA
   sinA + cosA

tan2A – 1

38. The angle of elevation of a cloud from a point 60m above a lake is 30( and the angle of depression of the reflection of the cloud in the lake is 60(. Find the height of the cloud.

39. The angle of elevation of a cloud from a point h meters above a lake is ( and the angle of depression of the reflection of the cloud in the lake is(. Prove that the height of the cloud is  h( tan( + tan()

 
 tan( - tan(

and distance of the cloud from the observation is   2hsec(







       tan( - tan(
40. Form an aeroplane vertically above a straight horizontal plane, the angles of depression of two consecutive kilometer stones on the opposite sides of the aeroplane are found to be ( and (. Show that 


  tan( tan(






    


tan( + tan(


                                                                                                       P


    P’

41. Prove that PP’ = QQ’

42. Two circles touch each other externally at C. Prove that

the common tangent at C bisects the other two common

tangents.

43.
Two tangents PA and PB are drawn from a point P to a circle Q


  Q’

with center O. If OP is equal to the diameter of the circle. 

Show that triangle APB is equilateral.





         A

44.
The radii of two concentric circles are 13 cm and 8 cm. AB 


     O

is a diameter of the bigger circle. BD is a tangent to the 

smaller circle touching it at D. Find the length AD.
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